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N = 0l & At & Ml A

2H: BREAD
dM: AMNEUHEESAZ 29
Sl XNYBEH 2B IS CHB 29 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
R M2 2,167,560 2,087,226 80,334
= 82,800
< 30,340
Al 2,054,420
NEHEEAZ 2 1,090,692 1,037,279 53,413
< 5,500
Al 1,085,192
NEZSH 2 IR SN2 29 451,182 330,512 120,670
< 5,500
Al 445,682
SEEME AMAE 2 356,612 241,612 115,000
201 et 301,612 221,612 80,000
01 At 22l 296,890 216,890 80,000
OXEFd MUl 22 160,000
O=Us=X 22 AAMHA XML (0BPia)+
= 11,000
OSETHMZ AIAE SR 22l
192,578,000& * 12% 23,110
OSSN SHOIX SXl2ec
114,300,000& * 14% 16,002
OSg&TM& SHOIX 2eeE AHlA 0l82
55,000& = 123 660
OB M2 AIAE S22l
47,054,000& = 13% 6,118
Odgllet ST MBAAHE 2F
80,000,000& = 14 80,000
02 =224l 4,722 4,722 0
OEAMZ UE/3 FH sX&2
59,020,000& * 8% 4,722
405 XHobF S HI 55,000 20,000 35,000
01 AR ESFH S 55,000 20,000 35,000
OFXNHE M2 MXE 2 50,0008 * 4002 20,000
O MZME BorEYGI(IPS) ¢
35,000,000& * 1CH 35,000
SMS0tel sk 11,900 11,900 0
201 Let24E] 2,000 2,000 0
03 &Ar2 I 2,000 2,000 0
O=sMSotel }3s 500,000& * 43 2,000
307 21201 A 9,900 9,900 0
02 QB AAFEX 5,400 5,400 0
O=AMs0tel &stdl XI& 300,000& = 18 E 5,400
04 DI2HHALALSE E X 4,500 4,500 0
OsAMHsotel 58 g2t 4,500




SN EREAR
dM: AMNEUHEESAZ 29
Sl NHBEM GBS JIRE TN 29 (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SAHE 28 FAU(MAAL) 9,500 9,000 500
201 £B-2d| 9,500 9,000 500
01 At 22l 2,000 2,000 0
OSARE 25 ¢t MI M 2,000
03 &AL2 I 7,500 7,000 500
O=AEHE /38 2AME
500,000& = 1 « 33 1,500
OF0tIte SEAEHE Z208 29 6,000
SAEE 28 FA(ZHIEX) 63,500 68,000 A 4,500
= 5,500
Al 58,000
201 Let24d] 63,500 68,000 A 4,500
< 5,500
Al 58,000
01 At 22l 63,500 68,000 A 4,500
O=2AEE R0l 282 &N 2
10,000& = 2& » 3,1759H 63,500
< 5,500
Al 58,000
ANEXtzg obatoly =& 9,670 0 9,670
201 et 9,670 0 9,670
01 At 22l 1,500 0 1,500
OXdgizg =& 24535t 1,500
-d=2+E 2283 HME 50008 * 1004 500
-XNSEes ZT20d Z20s ME
20,0002 *» 508 1,000
03 & Ar2 I 8,170 0 8,170
OXNg=2s Z20d 29 8,170
- A =g 370,000 = 73] = 32 &t 7,770
-29 =8 ¢ 200,000& = 23l 400
32t I9g &= 190,580 258,940 A 68,360
SHE AN 2el 19,604 77,344 AB7,740
201 Let24d] 12,704 35,244 A 22,540
01 At 2teltl 7,664 4,104 3,560
OXS AIE A8 HEH 8,000& « 3334 2,664
OBHZE RUAIE HI|IotE A AHI(3EFD1)
5,000,000& = 13l 5,000
02 =224l 5,040 31,140 A 26,100
O3HZ AIEZH KX 420,000& = 12& 5,040
202 oddl 1,900 2,200 A 300
01 = LH o4 1l 1,900 2,200 A 300




SA: BRENB
Hu: NYHECAZ 29
2

Hel: 232 92 =35 (Sl & &)

- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
O22lge gR=&0H|
(300,000 *3% )+(1,000,0002 x1&4) 1,900
405 XHA&HF S HI 5,000
01 XA 2 ZF S H| 5,000
OfUHRLIEH ATH WA
2,500,000& = 274 5,000
25 29 170,976
Bt AH| 168,496
AP 22| H| 4,096
ORI Y AIRE2E 22|
300,000& ~ 42| 1,200
O8x=% & E22 M2Zdl 300,0008 * 42| 1,200
OXMEMN,OHUHE M ZH] 400,000 * 42| 1,600
OS¥ MEZH AME2 8,000 * 12& 96
===294| 2,400
Od9 Al HB £=48X4| 200,000 = 12&€ 2,400
A A HI 162,000
O2A =& 160,000
-&7 2%
(35,000 *332 Xk« 12F 4= D] )+(65,0002 *3 158,400
32 E*12Fx42D])
-Sg ux
50,000 * 2A12F » 84X x 23] 1,600
OXBSLHES L JAG 29| 2,000
(R =X 2,000
Al =X 2 = X H| 2,000
OENZ2Y ANHBFILRFTY| 2,000
e S = 480
SHAFAIHI X2 480
OXSLEZ IR 244l
8,000& * 60YH = 1A 480
ME =0 SN T2 43 58,374
SENNEES 51,750
201 B9 49,810
01 At 22l bl 5,250
OgotE |g Og=sty) Q= I &
15,000& = 10 * 1A= 2,250
OFAYE MsU=0le AAX HA
1,000,000& = 13| 1,000
O& 208 =228 ¢ 228 M2
1,000,000& * 23| 2,000
HAHZ S HI 44,560
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ME &0 SN Z2OY 245
SA - ZE-B(EA) - NRAY - B S il
OZNMZUAM 18 28 2 2,900
- A==E 230,000& = 103l 2,300
-29 23 7*¢ 15,0002 * 409 600
OSHAG(TH2=2HEAN2S 7,330
—&AJ =2E TA==E 500,000& = 43| 2,000
-SHAY, SAB EAHASSY
500,000& = 43| 2,000
-8 MAR HAEM P2
500,000& = 23| 1,000
—8=% HA 55,0003 = 304 *» 23 330
~0f2t S22 ZROY 29
500,000& = 42| 2,000
O=AMds3l 2g 3,480
~OfRI0l, BAUE, HOSAE LA
65,000& = 1631 = 27| 2,080
-&dA4 oEsE 20 Sotel ZA=+=E
65,000& = 102 650
-24 288 7¢ 250,000& * 37| 750
OMAARI ST 29 2,060
-2 MY 65,000& = 123 = 27| 1,560
-249 28 7¢ 250,000 = 27| 500
OsARa 24 1,700
- A==E 110,000& = 53 =« 23| 1,100
-29 235 ¢ 300,000& = 23| 600
OFst & Ots2 M=01Z208 2 2,880
—LAAE 35,0003 * 2% = 243| 1,680
-249 =28 #¢ 50,0003 = 243] 1,200
OY0tE <l e st 23 4,020
-2 MY 240,000& = 133l 3,120
-29 28 #¢ 300,000& = 33l 900
OFAY MWsUs0le 29 1,290
-E0s ZAMsE  65000& * 3H * 23] 390
-3 XE ZA=E 110,000 » 2% * 33| 660
-2d=5 ¢ 40,000& = 63l 240
OS4ds(tsxg)Z20d 22 2,440
- A==E 230,000& = 83l 1,840
-2g9&5 7Y 200,000& = 23| 400
-XsgYAs 2 =84 40,000& = 53l 200
OEMZ2U =20 MoI2 & 2,560
-2 MY 200,000& = 103l 2,000
-2d=8 ¢ 80,000& = 73l 560
OZFs st 48 22 29 2,200
- A==E 500,000& = 43| 2,000
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-2d9=28 ¢ 100,000 * 23| 200
O3EEH du=s w4 3,450
- A= 65,000& = 103l = 37| 1,950
-2g8=8 +Y 500,000& = 37| 1,500
Of2t20FE A 2 8,250
—ZA=g 500,000& = 102l 5,000
-Jlg 3¢ 2,000
-HAN2EES F 500,000& = 23l 1,000
—8=2 MA 50,000& = 53| 250
301 LEHZ 1,940 1,440 500
09 HALAHIX RS 1,440 1,440 0
OSHUEHA EIHX S A
8,000& = 30¥ « 62l 1,440
12JEEd= 500 0 500
Osns OIHIE A P
10,000& = 5%+ 102 500
SAERE =5 ZZ20H 29 6,624 3,808 2,816
201 £Br2%H| 2,400 2,400 0
03 A2 Z Hl 2,400 2,400 0
ONFUAS A% LYQLBALE SY SA 22
35,0003 = 4 * 20HBF » 4= 1,120
Osy 22 7YYl 1,280
-SAEE AL
20,0003 = 2JHEt « 8= = 30| 960
~Ye SAEE SY
40,000& * 2Bt * 43| 320
301 LEBEAZ 4,224 1,408 2,816
12 JIE2 4= 4,224 1,408 2,816
OXESIH 243
11,0003 » 8F = 2JHEF » 8F = 3D| 4,224
M D mels &3 =4 390,556 407,904 A 17,348
Nes 22 (22 AR) 48,085 48,105 A 20
201 Yete | 38,305 36,625 1,680
01 At 22l 22,520 22,520 0
OSESAIINE 2| 1,000& * 2,0000H 2,000
OSMNEJIIE ZEHE ela 7Yl
100,000& *» 102 1,000
OXNZH2E A2 =Sd(HM=2, 8288 2
o =) 5,000
OO0IEXPC 223 P&l 3,000
OZgld Ed #&Hl 300,000 » 2CH * 53] 3,000
OVD AIEZ 35,000& * 62/ * 12& 2,520




N-Z33.22(3H) - H2AY - BES Ol &F o4 %Ei Hns2
ORtdE PE= 500,0008 » 122 6,000
02 232 5,785 14,105 1,680
OEHBEIANAL S 2ol 15,785
-NANE HA3E 2|
40,810,000% * 7% 2,857
-ts sl 37,250,008 * 7% 2,608
—RFID 2 A XD 71,600,0008 * 7% 5,012
-SNSZ Z2)l 8,700,008 * 7% 609
~CNOUSZMAIAL 43,120,008 * 7% 3,019
~ QOIS UL AIAE 24,000,008 * 7% 1,680
301 LPBHD 7,480 7,480 0
12 JIEH2 43 7,480 7,480 0
ORFEMI AHI243
11,0008 * 23 * 3402 7,480
405 Tt &HF St 2,300 4,000 A1,700
IR EEEEE 2,300 4,000 A1,700
O&HIZ4 ML ¢ 800,000& * 14 800
OzEZ 7Y 1,500,008 * 1CH 1,500
XE =5 127,700 122,100 5,600
201 Lyt HH| 23,400 23,400 0
01 At 22l bl 23,400 23,400 0
Ogiz e 7 14,400
—ae 40,0008 * 165 * 420 2,400
- &X 1,000,008 * 122 12,000
OXNEI2ASE Yl 9,000
-HIZE 2t S 7503 « 6,5000H 4,875
—RFID 21, TAG 750& = 5,5000H 4,125
202 01t 3,000 2,400 600
01 =Ly o1 bl 3,000 2,400 600
OZY A2EF oyl 300,0008 * 102 3,000
405 TH&HH St 101,300 96,300 5,000
01 T 2B St 6,300 6,300 0
OV 2| 30,0008 * 150% 4,500
o20eE YL 30,0008 * 60 1,800
02 SA Rl 95,000 90,000 5,000
OEM 7Yl 10,0008 * 9,500% 95,000
M2t g2 A 248t 7,337 6,882 455
201 Yyt | 7,225 6.770 455
01 AL 22l bl 3,560 3,560 0
OEMZE3 &3l 1,660
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2H: BREAD
dM: AMNEUHEESAZ 29
el M 9| HelE B X4 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oodlal 2eldl 250,000& = 12& 3,000
OJIAHEH RXEe & dsBA 24
1,500,000& * 12& 18,000
OHM3E Ald= I EH S99l
1,500,000 = 23l 3,000
OXItE HIILHl BIIEA ==&
850,000& * 13 850
02 2324l 69,509 91,042 221,533
OAl& & Hl s X bl 68,709
-HE %Xl 4,300& = 6,901m 29,675
—JIHEIIANE =&KX 20,000
-d3S0l A2 ¥ Fdldl 4,500
- 2EX =&KX 23,302,727& = 6% 1,399
—2EN K7 1,427& = 15,000km/9 2,379
-JIH4A 2HI e R 2L 500
- B2 MAH
24,0003 = 4704 = 23l 2,256
-3J =S EX ZH wA-
1,500,000& =* 23] 3,000
-—Axd dFE H EHIJ HEH
1,250,000 = 43| 5,000
Oz22= & HA 800
-2 2E 3l 50,000& = 13l 50
- 2EXE XS IHAl 40,000& = 104 40
—2ENY BE=2 710,000& * 1CH 710
401 Al HI L 2 THHI 20,000 30,000 10,000
01 A& HI 20,000 30,000 210,000
OUEEAMZ A0 HE AMRa 28 HHl &
SR 20,000
ADIE TH2 AMHIA 2= T8 15,600 0 15,600
201 24l 5,100 0 5,100
01 At 22l 1,500 0 1,500
OXzdel&s #eHl 1,500
-H2E, 2t¥ S 750& = 1,0000H 750
—RFIDIIH, EH ] 750& = 1,0000H 750
02 232gHl 3,600 0 3,600
OABIEE MZAIAE KK 2eEl
600,000& * 23 1,200
OIS 23 200,000& = 12& 2,400
405 XHoHF S HI 10,500 0 10,500
02 =M=l 10,500 0 10,500
OABLEENZ &N 7¢ 15,000& * 700&A 10,500
LHESHENZ 2 275,549 266,328 9,221
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SN=2s AEMS 196,373 188,582 7,791
101 124 4] 2,322 2,215 107
04 JIZAtNZ22XNSE* 2,322 2,215 107
OXNEAAREEIR oA (&8 2,322
-Jl2s 73,280% * 18 * 22 1,613
-2a5+8 73,2808 * 198 » 4= 294
— Xt A 73,2808 * 1H » 1€ 74
- =4l 5,000 = 18 » 22¢& 110
-4HEE= 2,091,000& = 11% 231
201 fEt2E | 96,451 94,567 1,884
01 AtR 2t 2l | 63,335 63,335 0
OERFIE MNRES AL 2,500
OJ|Et+=EH| 1,500
OgA=EFU(EASH S) 2,000
O0f2t & S22 2 2446l 550,0008 * 6% 3,300
O=MZE3sl &3l (158) 360
OZ A2 AOILE &4 500
OSHIJINE 2L 1,000& = 1,5000H 1,500
O=ANE3IE ZEHE cle 2l
100,000& = 58 500
OXMzdcEs 7l 10,000
—HIRE, 2t¥, SHNES-EE S 4,000
—RFID 21, TAG 6,000
OO0l PC A2F HI(dlEAN S) 2,200
O&lH gl 2,300
-ARA ZHEIYE EUY
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OaUxgd 22l 8,000
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OSA Xtz 110,000& * 128 1,320
OX=2oAI Sz 40,0008 = 123 480
O&=Jl e/t 40,000 = 5CH » 12& 2,400
O3J1&8 387 &2bl 30,0003 = 8CH = 12& 2,880
02 S3=9Hl 33,116 31,232 1,884
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